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����	�"� #SiO2) �� �z1=-0.012nm � n2 =1,46, k2=0; d2 = 3.9 nm$� �����"� ��
��
��
�	�"� �� �z3=-
0.102nm; ����!
�	�"� ��n4 =3,025; k4=0,355; d4=4,4nm; ��
�
"� ��
��
��
�	�"� ���z5=-0.089nm ;
�
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�����n6 =3,865,; k6=0,023������������	
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� ���z3 ���z5 �
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��� ��� ����	����!�,���aSi (60%), cSi
#675����SiO2 (33%). 
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1. 4������<��(�����
����������
�����
��		�"������ =�<��4������/��1� ����������
�����	%���
�
� �����4�2��<
�	
���������;���� �����– *���-��-�
�>*��?��9@&9��– +&A���

2. B��C�	�
�� 2�4�� ;��������� %��	�C� �������� ����	�"=
����� �� 	�����=
����� ==� D���!��
,��������!�	����-2009.-���96@��E@�- ��@A9�– 930.
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�� ��� �����
����	�	��� �
����.�� ����

0��		���
��������� 	����
�	
%
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�����������������	���,
�����������
�,,�C��	����������	������
������ � = (�� � ��)/��.
����	�����		�� ����������	������0��C��9�

8�0��C��9�– (,,�����	
����	��������������
�0C���;�2
��
�	
����

�
 �	����
�3=#�2G�5

;�
�
����
%������=� �/�
	 �/	�� ��/ ���G�%=�3 �	�G�%=�3 �

21

1 6,27 5,3 0,97 0,144 1,348 0,892
1,5 6,22 5,3 0,92 0,162 1,348 0,880
2 6,18 5,3 0,88 0,177 1,348 0,869
3 6,12 5,3 0,82 0,204 1,348 0,849

34

1 6,14 5,3 0,84 0,194 1,348 0,856
1,5 6,13 5,3 0,83 0,199 1,348 0,852
2 6,11 5,3 0,81 0,208 1,348 0,846
3 6,10 5,3 0,80 0,213 1,348 0,842

64

1 6,09 5,3 0,79 0,218 1,348 0,838
1,5 6,07 5,3 0,77 0,229 1,348 0,830
2 6,05 5,3 0,75 0,239 1,348 0,822
3 6,03 5,3 0,73 0,251 1,348 0,813
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� = (	� � 	�)/(	� � 	��),
%�� 	�, 	�, 	�� –�

��������		
����%
�
���
�	����
���!��	���!
���� ��!
��������	
���	
��	��

��!
������	���������%=�%�����
��
��� ��
%
� �,,�����	
���� 	������� 
C�	������ �
� ������	�� ���
���� ��������	�	
"�

��
��������
"������������


��� = 
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%���� – ���
���	���������$�n0y – ����
����	�C�����	
����
�%��
�
"�,�����

J���
����	�C�����	
�����������������
�,
�����
�0	 = (	� � 	�)/�	��

%������� – ����	��
%���,������������
������������
C������

-� �
� ������ ��
���������!� �����
�� #J885�� ���!
����!��� 	�� 9� � ���
��� 	�������� 9=�� J88� K�
9=2(88�
<����������������
��	�"�����������	������0��C��A�
(,,�����	
���� 	�������� �
����		��� ���� ������	��� ���%��� 	�� 997� �� �� �,,�����	
�����

�
����		
"��������
�0C���;�2.

8�0��C��A�– (,,�����	
����	�����������������	����
��

q, �3/(�2G�) w, �=� �	 · 103,
�%=�%����

3

í 10 ,ó� �
�%=�%����

�� · 103,
�%=�%����

3

ê 10 ,ó� �
�%=�%����

I 2(88�
�

J88�
9=�

21
1 6,3 10,2 12,3 12,8 0,920 0,180 5,96
2 6,0 10,0 12,8 13,3 0,930 0,170 5,88
3 5,9 10,0 19,0 13,3 0,960 0,144 6,94

34
1 6,4 10,2 11,7 12,2 0,915 0,220 4,55
2 6,1 10,1 12,0 12,4 0,936 0,185 5,40
3 5,9 10,0 12,7 13,0 0,958 0,150 6,67

61
1 6,3 10,2 11,4 11,7 0,946 0,190 5,96
2 6,1 10,1 11,7 12,0 0,949 0,179 5,59
3 6,0 10,0 11,8 12,2 0,935 0,189 5,29
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8�0��C��'�– L����������������%����	�!�	����
�

L�������������
��
��
�����-
����	��
	������

Z–
0���	��
	������

B
,���
��		���	������ /
����
��������
����

	������

���
�	�-
	���9

���
�	�-
	���A

M�%���� 10     15      20 16     20    26 7 7 20/15
D����	����
���!	
�����
�2=�3

180    125    
95 140   110    85 450 200 420

2��
������������� 400 310   340   400 150 150 100
��
�	
���� 
�
 �	����
�3=#�2G�5 0,5–120 1–120 0,1–10 0,2–2,5 20–64

F–,���
����� = ���
�3 0,55–8,0 0,4–5 0,2–2,5 0,5–3,5 1–3

2(88��� 0,6–1,5 0,5–1 0,175–0,2 0,75–0,4 0,15–0,22
B�����������
��
�
��
�����	������=� 1,33–3,33 4–400 20–300 10–600 15–180
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